2 HEAREK-3

EB: XA
wulisu@sdust.edu.cn

LAMR KT, HFFR



1. 172 X9 T
2. Vandermonde 477 &,

3. T X &M ITAA



—

o 177 X9 3L

ail a2 -+ Qip

a1 Q22 --- Q2p
: : - T E : (_1)t(p1p2 pn)alm A2p, =+ * Qnp,
’ ) ) Pip2--Pn

Ap1 QAp2 -+ Qpp

= ay My — appMyg + - -+ (= 1) "ay, My,
= (=)™ ag My + -+ (=1)" " anMy,
(2 ¥ 2)

1/14



o 177 Xegy<F MM

1) D" =D.
2) R#LAA (3]), MIFHXES.
3) 4T (31) Fes k, WATH XK L
4) BAT (BN) A, MATH X AR,
5) — 47 (F1) Tha, 475 X7 ho.
6) 4T (F1) 8 k4B F—47 (1) £&, MFIIARE
SRAENER L Y
0 Ty &> Ty
o 7 X k.

[+ ’f’j‘l‘TiXk.

2/14



173 Xoy e 72 32

e (473 X8 & TT)

FRXRFTeE—17 3) WELE ST BRI A T ARARZ
Fa, BP

D=agAng+ aplp+ -+ anlpm i€{1,2,---,n}

2\q<\:

D= a1;A1;+ agjAoi+ - + aniAdy;, jE{1,2,--- ,n}
b Ay = (-1)"My.

Eri=1H8, B n AT X693 A2 L.
3/14



wF XARBERT X

.

o £ n WATH X P, XE ajj Bt 204 8
é@ n—1 F{l\”/f'j—_}']iim{ﬁii% Qjj é"ﬁaj}%i& TE/VF MZ,
o Aij = (—1)i+jMij ﬁﬁ’\f] Qi é’]{&é{(é’—}%i&

o Bl w4771 X,
a

as1
D="
asi

a41

0] aso 20 é"}% i\ﬁ”’f)ﬁé{(%% :e\i

a11 a2 ai4

ai2
22
as2
42

a3
a23
ass
a43

ifTAe RRG, BT R

ai4
(24
(34
44

342
Msy = a1 age ags|, Aszy=(—1)"""Msy = —Ms,

41 Q42 Q44

4/14



175 X a9 &y

522
—An BATFIR, e R R AT 0y SMAATE, LR
FIRET oy 5ERREATFROGRAR, B

D= aiinj
11
it H
3 1 -1 2
-5 1 3 -4
= 2 0 1 -1
L =53 = 5/14.




173 X9 e I

(175 X849 &)

wﬂﬁ%%a%&aﬁﬁwﬁéiiﬁﬁﬁﬁﬁﬁﬁ%%i%ﬁz
= B

D= ajgAy+ apAp + -+ apA,, i€{1,2,---,n}

2\2\1

D= a1jA1j+ a2jA2j—|— o oo anjAnj, jE {17 2, ,n}

6/14



177 Xy Tt

232 (Fr3) ey BIT)
TR RF T EHE—1T (1) &L F 5 AR KA T ARk
F=, BP

D=angAng+ aplp+ -+ anlpm, i€{1,2,--- ,n}

2,
D= a1jA1j+ CLQjAQj—I— o oo anjAnj, jE {17 2, ,n}

E {37y
i % j i,
anAp + apAp+ -+ apdp =0
(a1:415 4 a2iAaj+ - - - + ayAn; = 0) 6/14




I
3 -5 2 1
1 1 0 =5
D=11 3 1 3
2 —4 —1 -3

K Ay + Aig+ A + Ay o My + Moy + Msy + My

7/14




Vandermonde 477 &,

il
1EBA Vandermonde 17 %) X,
1 1 1
o m - I
D=2 @ o 2 |- [[ (si-a)
: : : el
.’13?_1 :E;z—l $Z_1

TE B :

8/14



TR XG5 &EH4EA

RaH n ANAKFE n NEETALE AL

(
ann + 1229 + -+ A1y = bl

171 + oM + -+ + ATy = b2

L An1 21 + Qa2 + - F ATy = bn

&
aip a2 -+ Qip
a1 G2 -+ d2p
D=| " . .
apl Gp2 *-° Gpp

D AR oM AR A B R AT D) X 9/14



IBLENCE X A 4!

4
aip - A14-1 b ali41 - Qin
g1+ Qg1 ba aii+1 -+ Q2p
D= ) . ) .
Qp1 - Qpg-1 bn a1i4+1 - Gpp

& 32 (Carmer F 1)
F DA0, WEMHALA (1) A E—#F

10/14



RE L]

.

151
B Carmer W] K A% & M 75 #2480

T — Ty — X3 = 2
201 — 1 — 313 =1
3$1+2$2—5$3:O

11/14



#F % : Vandermonde 77| X 89 —AFH =

7] (VAdh34h)

A AANFAERTE, — N LERAHFR, 5—ANHEARFHFE, A
N E— AR XL AT B a9E %, HIAHE LW P KK
4o

NEKET N RO HER,

12/14



.

o T Xy I3
D, 1=
ailAjl + a/i2Aj2 + -4+ CLmAjn = {0’ ; ]

o Vandermonde 177 X,

1 1 1
ial T T,
D=2 & - 2= ] ()
: : n>i>j5>1
Zﬂ?l xgl xz—l

o Carmer =N 13/14



(D2

o ¥ Tk & EIRAAE 5
o P22-23. 6-(4). 8-(2)(3). 9.

14/14



R 7] Fe i1

* A7 (http://wulisu.cn)

Email: wulisu@sdust.edu.cn


http://wulisu.cn
wulisu@sdust.edu.cn

	Content
	1. 行列式的展开
	2. Vandermonde行列式
	3. 行列式与线性方程组
	END

